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% B t=15cm#d30cmlL F (19cm) m 518. 30 518. 00 I
AR IR ALy m 98. 50 99. 00 I
SEEFIHZ T
S AL RG] t=15cmlL m 51.90 52. 00
S AL RG] t=15cm#A30cmlL F (19cm) m 34. 40 34. 00
L W v A GE R AL 5y =Y 1. 00 1. 00
BiEi) Ui
e A t=15cmlL m2 405. 10 405. 00
BiEi) Uit
eI A t=15cm#E40cmlL F (t =19¢cm) m2 63. 20 63. 00 i)
BiEi) Uit
AR IR ALy t=15cmLL F m3 13. 60 14. 00
BiEi) Uit
ERIERRAL Y t=15cmE40cmLl m3 12. 00 12. 00 |
R E n 63. 20 63. 00 I
R n 391. 40 391. 00
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THX 5y T Fii Al A Al H i AL ¥ & AR T
BN T 22 CHkL)
)= PK-3, t=7cm PK-4, t=7cm m2 581. 52 582. 00 i)
WENRIT 22 (%kD)
*JE PK-4, t=5cm m2 581. 52 582. 00 1 [H
ESE] #JE . FIE  t=bcm m2 88. 00 88. 00
ESE] FJE . A t=3cm m2 37.90 38. 00
ESE] £ . FHK _ t=dcem m2 265. 50 266. 00
DX R T
T il =X R FEHL 15em K m 153. 00 153. 00
T =X R FEHE 15em [ m 186. 00 186. 00
T it = X Y75 15cm H m 2.00 2.00
T it = X Y75 45cm B m 28. 70 29. 00
T =X R SCF - Fi 30em m 16. 00 16. 00
T =X R A+ 15cm - [ m 50. 40 50. 00
T it = X Y75 - 30cm - [ m 3. 00 3. 00
T =X R FEHRE - 30cm - AR m 1. 00 1.00
T =X R FEfR - 45cm - R m 1. 00 1.00
T =X R FEHR - 60cm - R m 1. 00 1.00
T =X R FEHE - 30cm - T m 1. 00 1.00
T =X R FEHRE - 45cm - m 1. 00 1.00
T =X R FEHRE - 60cm - m 1. 00 1.00
- INEVE 5 5K
B AR 9\ XHERI 4 800 X600 15 P 5. 00 5. 00
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T Ff HLES AtEE ot | AL ES
t=15cmPl F 47.1 + 2. 20 + 2. 60 51.90 m
SHLERR 51.90 m
YiKr  [t=15cmi#B30cmlL T
(t=19cm) 6. 65 + 27.76 + 34. 40 m
34, 40 m
t=3cm 2. 60 X 0. 078 - 100 0.00 | m3
LIk
- jiﬂ 4 t=7cm 47.1 X 0.174 = 100 0.08 | m3
t=19cm 34. 40 X 0. 438 = 100 0.15 | m3
0.23 | m3
T R
t=15cmPl F 39. 47 + 351. 90 + 13.76 405.10 | m2
BT IR 405. 10 m
e =15cmiB40cnil F
(19¢cm) 63. 20 63. 20 m2
63. 20 m ]
I 1 G
Ekﬁ@]ﬁu tzlng 518 32 + + 518 30 m2
=
518.30 | m2 | &R
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Tep ( 351.90 + ) X 0. 03 = 10.60 | m3
i 10.60 | m3
t=15cmPA
AT ( 39. 47 + ) X 0. 05 = 2. 00 m3
i 2.00 | m3
t=15cmPA T
HOEMAL (AR ( 13.76 + ) X 0. 07 = 1.00 | m3
67\
i 1. 00 m3
t=15cmi@40cmPLl T
(t=19cm) i FE ( 63. 20 + ) X 0.19 = 12.00 | m3
2 12.00 | m3 | %4
t=15cmi@40cmLLl
(t=19cm) HJH! ( 518. 32 + ) X 0.19 = 98. 50 m3
2 08.50 | m3 | &M
63. 20 + + = 63.20 | m2
ENT e i =| 63.20| m2 |
39. 47 + 351. 90 391.40 | m2
g = 391.40 | m2
IEL3E o
g SE A (20)  14em
FJE Y IR (20)  5em 518. 32 + 63. 20 + = 581.50 | m2
i 581.50 | m2 | &M
REHE (A M
£FE % t=5em 48. 48 + 39. 47 + = 88.00 | m2
1A i 88.00 | m2
RS AR
)@ M t=3cm 37.90 + + = 37.90 m2
37.90 | m2
PR AR
EE A t=dem 265. 52 + + = 265.50 | m2
i 265.50 | m2
PETR JEf « 15cm - 3K 153. 00 + + = 153, 00 m
JEH + 15em - 186. 00 + + = 186. 00 m
Y77 « 1bcm+ H 2.00 + + = 2. 00 m
Y75 « 45cm - [H 28. 70 + + = 28.70 m
F e ZRE  30em ¢ M 16. 00 + + = 16. 00 m
R « 15cm - [ 50. 40 + + = 50. 40 m
Y75 «30cm+ H 3. 00 + + = 3. 00 m
R - 30cm ¢ AR 1. 00 + + = 1. 00 m
FEHE - 45cm - R 1. 00 + + = 1. 00 m
FEHE - 60cm * IR 1. 00 + + = 1. 00 m
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T Ff FAS At arat | AL
FEHE - 30cm ¢ T 1. 00 + 1. 00 m
TR - A5em ¢ T 1. 00 + 1. 00 m
FEHE - 60cm ¢ T 1. 00 + 1. 00 m
PR =2V
JE X7 5. 00 + 5.00 | 7T
2. 48 + 2.50 | nt
EHiell
2.50 | nt
R LU 2. 48 + 2.50 | nf
2.50 | nt
HRHLESE 45.85  + 45.90 | nf
Ry
7 45.90 | nf
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Ifififf SRR D) fii#
Ao N5 4te "
L Tg; Qf glzg L Wi W2 W () NEE o it it
m m m m m2 1 m2 m m m m m
19.00 [19.00 | By 810 | 40.00 |3.30 | 2.90 | 3.10 | 2 124.0 124.0 0.0
19.00 [19.00 | bl #IH | 21.00[2.90 ] 2.90 | 2.90 |2 60.9 [1] 0.3 60.6 | 3.35 3.4 | miasesn
19.00 [19.00 | I 15 | 40.00 [2.85 | 2.95 | 2.90 |2 116.0 |3 | 0.8 115.2 | 3.30 3.3 | mrassom
19.00 [19.00 | bl #1H | 40.00 [2.95 | 2.95 | 2.95 |2 118.0 {1 ] 0.3 17.7 0.0 | mirsoso
19.00 [19.00 | il HIH | 24.50 | 2.95 | 3.03 | 2.99 |2 73.3]2] 0.5 72.8 0.0 | ek
19.00 [19.00 | bl #IH 3.65 [3.03 | 5.60 | 4.32 |2 158 (1] 0.3 15.5 0.0 | mirsoso
19.00 [19.00 | By EiAAE] 3.85 | 0.80 | 0.80 | 0.80 |2 3.1 3.1 0.0
19.00 [19.00 | bl #IH | 11.70 [0.80 | 0.80 | 0.80 |2 9.4 9.4 0.0
19.00 |19.00 | Mk | Ak | 16IH 3.00 [2.65 | 5.50 | 4.08 |2 12.2 12.2 | 3.35 | 3.33 6.7
19.00 |19.00 | fff | ke | #IA 3.00 1265 | 5.50 | 4.08 |2 12.2 12.2 | 3.35 | 3.33 6.7
19.00 |19.00 | Mk | Ak | f6IH 3.00 [2.45 | 6.57 | 4.51 |2 13.5 13.5 | 3.54 | 3.66 7.2
19.00 |19.00 | fff | ke | #IA 3.00 1245 | 6.57 | 4.51 |2 13.5 13.5 | 3.54 | 3.66 7.2
3.00 |3.00 | ffe | RBE | 78IH | 17.65 [0.80 | 0.83 | 0.82 |2 14.5 14.5 0.0
3.00 [5.00 | iR | KRB | IR 3.85 10.83| 0.83 ]| 0.83 |2 3.2 3.2 0.0
3.00 |3.00 | e | RBE | 7800 | 28.20 [0.83 | 0.83 | 0.83 |2 23.4 23.4 0.0
3.00 [5.00 | fifRe | KRB | IR 7.00 10.83| 0.82 | 0.83 |2 5.8 5.8 0.0
3.00 | 5.00 | fffe | RBE | A 0.70 [0.70 | 0.70 | 0.70 | 2 0.5 0.5 0.0
3.00 [5.00 | filRe | KRB | IR 4.70 | 1.40 | 1.40 | 1.40 |2 2.0 2.0 0.0
3.00 | 5.00 | fkfe | RBE | IR 1.80 | 1.65 | 1.65 | 1.65 |2 2.7 2.7 0.0
3.00 |4.00 | fifRe | KRB | IR 3.60 | 0.95 2 1.7 1.7 0.0
3.00 | 4.00 | fkFe | RBE | 1A 3.60 | 1.60 2 2.9 2.9 0.0
3.00 | 4.00 | #E#e | ke | #@ | 23.00 |3.30 | 2.96 | 3.13 |2 72.0 4] 0.3 71.7 0.0 |""a"
3.00 | 5.00 | fkfe | RBE | 1A 6.20 [2.96 | 2.90 | 2.93 |2 18.2 18.2 0.0
3.00 [4.00 | R | RBE | #IH [ 35.00 |1 2.90 | 2.60 | 2.75 |2 96.3 96.3 0.0
3.00 | 4.00 | fkfe | RBE | IR 3.13 | 1.53 2 2.4 2.4 0.0
3.00 [4.00 | ffFe | KRB | IR 3.13 10.70 2 1.1 1.1 0.0
19.00 |19.00 | Mk | Ak | f6IH 2.58 [6.60 | 1.70 | 4.15 |2 10.7 10.7 0.0
19.00 |19.00 | fff | Ee | 1A 0.76 | 1.70 | 1.10 | 1.40 |2 11 11 0.0
3.00 | 4.00 | fffe | RBE | IR 3.80 | 0.80 2 1.5 1.5 0.0
3.00 |4.00 | fifRe | KRB | IR 3.80 | 1.80 2 3.4 3.4 0.0
3.00 | 4.00 | fffe | RBE | IR 2.60 [2.60 | 2.60 | 2.60 |2 6.8 6.8 0.0
3.00 [5.00 | filRe | KRB | IR0 6.20 | 2.60 | 2.60 | 2.60 |2 16.1 16.1 0.0
3.00 | 4.00 | MR | ARBE | #EIH | 30.00 [2.60 | 2.60 | 2.60 |2 78.0 [ 1] 0.3 77.7 | 2.60 2.6 | mrassom
5.00 [5.00 | fifme | RBE | IR 18.00 [2.20 | 2.20 ] 2.20 |2 39.6 1] 0.1 39.5 | 2.20 2.2 | mrosem
19. 00 B 518.3 6.7
19. 00 TR 63.2 27.8
5. 00 2L 39.5 2.2
3.00 R 351.9 2.6
972.9 39.2
0.0
R 454. 6
454. 6
19. 00 iR 581.5
5. 00 I 48.5
5. 00 iR 39.5
3.00 I 37.9
4.00 #In 265. 5
972.9
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BEFHE (=70 HE)

EE (m) 17. 65+28. 20 45.9
EEERRGIMT (m) | 45.9 + 0.3%x4 47.1
EEERR AR (nd) | 45.9 X 0.3 13.8
ASHEERE () 13.8 X 0.07 1.0
ASHEIARALER (m) 47.1 X 0.174 8.19
PEEI () 0.3 X 0.18 X 45.9 2.5
7% sy 0.3 X 0.18 X 45.9 2.5
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HHGERR Wk
HREEEFMET
800
350 _ 450
| 6%
= (o= =]
o e \ggi
230
B ) Bl
HEE (100m= Y )
an & iz 4k <+ HE | B = & =
SEERRIJOvIME |[Fwvosc 165.0
oo —+FEEL 3o m3 11.9
t 279
100 m¥%4 v
4 R % B B = HAL| B &
Jr AR FE SRS 180210
A= 7LE £3004600 (i 165. 0
H:éi:%iu_]\ o ck=18N/mn’ 100 X( 0.150 + 0.156 ) = 2.0 X 0.450
- 100 X 0.050 X 0.230 m3 5.7
a7 V— K IZ 5.7 X 2.350 t/m3 t 13.4
EE%ZU_ b @@ffj%ﬁ 0.23 + 0.18 X 0.300 = 2 X 100 m3 6.2
a7 V— K HZ 6.2 X 2.350 t/m3 t 14.5
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BER (100m% Y)
& % WK T HE L # = ] =
SEEBERIOVIRE Jynosc| A 165.0
avou—+t N 18 m3 12.2
B m2 33.0
100 m¥%4 v
4 R % B B = HAL| B &
EIEEE *
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a7 Y—hr o ck=18N/mn’ 100 X( 0.150 + 0.180 ) = 2.0 X 0.800
- 100 X 0.050 X 0.210 m?* 12. 2
woopE T 100 X ( 0.150 + 0.180 ) m 33.0




